'80—S1128 669.14.018.292-415: 621.791.763.1: 669.779
(527) EiaEEMRD XAy biFkiE
(BB E R ESRESERORRE—4)
oA ARNEM BSERPER NE —H, OB HE
= e,  HE R
. #® §
Eﬁﬁﬁ@@%éﬁﬁ%kﬁ%k@t@t%ﬁﬂ4%v@ﬁ%ﬁﬁk?wéﬁ,$%®ﬁﬁlﬁfz
ﬁyb%%ﬁ%ﬁéﬂétw,x%v%ﬁ@ﬁ%ﬁ%ﬁéﬁénéoccfu,xﬁybﬁﬁﬁwﬁﬁ
REMHECH B E—ALT A b REAC, WRORT, GHRE BROEEORESE L7
2. HEMEERTE ,
£ IRTRO R L B OB EEET #1 HRWROEERS, SHEE L BENHEHE (t=08mm)

R 7o 8 8 SRS VT, % 2 (RT— CFEmA we.9) | AAERE | BHEOMR n
. ~ E3
ISR C ARy MEE L Tco B BREE | C 1007012 N
. Si : 0.01 ~1.00 Y.P:16.7~49.9 (kg/mm?)

R BREGRE (2594 274 ) 290K | mMi:020 ~2.16 200/ | T.5:318~833(ke/mm) | g
L, BEEWE >~ » b EA44.8+0.1m |P :0.003~0.138 El :17.7~44.5(%)

- - o S :0.004~0.018 | g5 /mi Y.R:412~845(%)
¢z BMBICRIEL o Al : 0.028~0.080 ‘ON?ﬂbr}s}*%ﬁﬁ

BEROFMIIN 1 CRTE—AT AL & 100ge e

E&CL, BETEE(F7 Y F NEOE -

) CRPML 720 R mERH#
A . 1) iﬂﬁ
_ , E3 . g Z;ﬁ‘YI'u
B =& DE % .
ﬁ&ﬁ‘ﬁ%ili\@ﬁﬁ%ﬁﬁﬁfﬁ Ei%%xﬁ" 4 —— \ =
s ffEICEE R 2 S RFRE Ty P AEEETL | mignspn 4, 50120
%ﬁ,%w%%f—wﬁﬁé@T?é@ﬁu BEBR . TE E1 E—LFX b
B Bo BEMEFOBIEE 12, BM OB
BEAET 30, BEHBRB~OREINE 014
AR SRk E B, W il : BRI
BBk L 7ML ER S Cea E PS5 v B 0.12 . FOGNE TAA
EFT B LN EETH Do i v o = i000d s
0.10 A B B T
ﬁ,_\ 150 -—————=-p ===~ - vaon- F4y A (BEF)
L — 4+ . AN <
g% IOO—A—O——O-—O—- _.__._;_.A_Q_.O_.O__.._;_;a §0_08 ‘ 4 vaenm-- 45y FR(TRE)
= 50t———————F—————— === T~ T ] o v ~ L
= S I OV |+ PR | oV | o v | RN .
i r——"tﬂ " —— | o 0.06 A ¢ .’
s 5t1-cogo0 *o—o—g—o—o——513-0—05---0—0—0—55- i S o
W « ! eoe ® s
=X Ao e Shaiie R 0.04 2 4=
23 ' Ys
R ~ .
g 4% 25 4 25 0.02 v 3 gp:“,g .
%@@ Y.P:39.5kg/mm? : 2 i & > 'gs\\ ,
& P:39.5kg/mm Y.P :43.4kg/mm A e e o N
N s | 200C/S1T.S:63.Tkg/mm* | 1000C/S T.S :67.2kg/mm? 0 : -
gg El. 306% El. :2]‘]% D 0] 0.2 03 0.4 05 06
Ceq (%) - WES

B2 AHREE L BEEHEE (G 0D ) M3 EonrR B SHRE L Cea, PORR
DEE (F) Mn:0.60 Al:0.031

—528—




